

**ASYMPTOTICALLY QUASI- I- NONEXPANSIVE MAPPING IN BANACH SPACE**

**RAJNI BHARGAV**

**Abstract:** In this chapter, I discussed the Asymptotically Quasi- I- Non-expansive mapping in Banach space. Paper explained some definitions for support of the theorems. It is the extension of some results given by others.

**Keywords :** Asymptotically Quasi- I- Non-expansive mapping, nonself *I*-Asymptotically Quasi Nonexpansive mappings, Nonself Asymptotically Nonexpansive mapping, retraction, uniformly *L*-Lipschitzian

**Introduction:** Let *K* be a nonempty subset of a real normed linear space *X* and let  $T : K \rightarrow K$  be a mapping. Denote by  $F(T)$  the set of fixed points of *T*, that is  $F(T) = \{x \in K : Tx = x\}$ . Throughout this paper, we always assume that  $F(T) \neq \phi$ .

**Definitions:** Let  $T : K \rightarrow K, I : K \rightarrow K$  be two mappings of a nonempty subset of *K* of a real normed linear space *X*. Then *T* is said to be

- (i) *I*-nonexpansive, if  $\|Tx - Ty\| \leq \|Ix - Iy\|$  for all  $x, y \in K$ ;
- (ii) asymptotically *I*-nonexpansive, if there exists a sequence  $\{\lambda_n\} \subset [1, \infty)$  with  $\lim_{n \rightarrow \infty} \lambda_n = 1$  such that  $\|T^n x - T^n y\| \leq \lambda_n \|I^n x - I^n y\|$  for all  $x, y \in K$  and  $n \geq 1$ ;
- (iii) asymptotically quasi *I*-nonexpansive mapping, if there exists a sequence  $\{\mu_n\} \subset [1, \infty)$  with  $\lim_{n \rightarrow \infty} \mu_n = 1$  such that  $\|T^n x - p\| \leq \mu_n \|I^n x - p\|$  for all  $x \in K, p \in F(T) \cap F(I)$  and  $n \geq 1$ .
- (iv) Let *K* be a closed subset of a real Banach space *X* and let  $T : K \rightarrow K$  be a mapping, then
  - mapping *T* is said to be semiclosed (demiclosed) at zero, if for each bounded sequence  $\{x_n\}$  in *K*, the conditions  $x_n$  converges weakly to  $x \in K$  and  $Tx_n$  converges strongly to 0 imply  $Tx = 0$ .
  - mapping *T* is said to be semicompact, if for any bounded sequence  $\{x_n\}$  in *K* such that  $\|x_n - Tx_n\| \rightarrow 0, n \rightarrow \infty$ , then there exists a subsequence  $\{x_{nk}\} \subset \{x_n\}$  such that  $x_{nk} \rightarrow x^* \in K$  strongly.
  - mapping *T* is called a uniformly *L*-Lipschitzian mapping, if there exists a constant  $L > 0$  such that  $\|T^n x - T^n y\| \leq L \|x - y\|$  for all  $x, y \in K$  and  $n \geq 1$ .

**Theorem 1 :** Let *C* be a nonempty closed convex subset of a Normed linear space *X* let  $T_1, T_2 : C \rightarrow X$  be non-

self *I*-Asymptotically Quasi Non-expansive mappings with sequences  $\{k_n\}, \{m_n\} \subset [1, \infty), \sum_{n=1}^{\infty} (k_n - 1) < \infty; \sum_{n=1}^{\infty} (m_n - 1) < \infty$

$l_n \in [1, \infty), \sum_{n=1}^{\infty} (l_n - 1) < \infty$ . *I* : *C* → *X* be a Non-self Asymptotically Non-expansive mapping with sequence  $\{l_n\} \subset [1, \infty), \sum_{n=1}^{\infty} (l_n - 1) < \infty$ .

*P* be a retraction from *X* onto *C*. Sequence  $\{x_n\}$  is defined as

$$\begin{aligned} x_{n+1} &= P((1 - \alpha_n)x_n + \alpha_n I(PI)^{n-1} y_n) \\ y_n &= P((1 - \beta_n)x_n + \beta_n T_1 (PT_1)^{n-1} z_n) \\ z_n &= P((1 - \gamma_n)x_n + \gamma_n T_2 (PT_2)^{n-1} x_n) \end{aligned}$$

If  $F_1 = F(T_1) \cap F(T_2) \cap F(I) \neq \phi$  then

$$\lim_{n \rightarrow \infty} \|x_n - x^*\| \text{ exists for any } x^* \in F_1.$$

**Proof :** Let us assume  $k_n = 1 + s_n; m_n = 1 + t_n; l_n = 1 + r_n$ .

$$\text{Since } \sum_{n=1}^{\infty} (k_n - 1) < \infty; \sum_{n=1}^{\infty} (m_n - 1) < \infty; \sum_{n=1}^{\infty} (l_n - 1) < \infty$$

$$\text{so } \sum_{n=1}^{\infty} s_n < \infty; \sum_{n=1}^{\infty} t_n < \infty; \sum_{n=1}^{\infty} r_n < \infty.$$

Taking  $x^* \in F_1$ ;

$$\begin{aligned}
 \|x_{n+1} - x^*\| &= \|\alpha_n I(PI)^{n-1} y_n + (1 - \alpha_n)x_n - x^*\| \\
 &\leq \alpha_n \|I(PI)^{n-1} y_n - x^*\| + (1 - \alpha_n) \|x_n - x^*\| \\
 &\leq \alpha_n (1 + r_n) \|y_n - x^*\| + (1 - \alpha_n) \|x_n - x^*\| \\
 &\leq \alpha_n (1 + r_n) \|\beta_n (T_1 (PT_1)^{n-1} z_n - x^*) + (1 - \beta_n)(x_n - x^*)\| \\
 &\hspace{20em} + (1 - \alpha_n) \|x_n - x^*\| \\
 &\leq \alpha_n (1 + r_n) [\beta_n (1 + s_n) \{ \|I(PI)^{n-1} z_n - x^*\| \} \\
 &\hspace{10em} + (1 - \beta_n)(x_n - x^*)] + (1 - \alpha_n) \|x_n - x^*\| \\
 &\leq \alpha_n \beta_n (1 + r_n)^2 (1 + s_n) \|z_n - x^*\| + \alpha_n (1 - \beta_n) (1 + r_n) \|x_n - x^*\| \\
 &\hspace{15em} + (1 - \alpha_n) \|x_n - x^*\| \\
 &\leq \alpha_n \beta_n (1 + r_n)^2 (1 + s_n) \|z_n - x^*\| + [\alpha_n (1 - \beta_n) (1 + r_n) \\
 &\hspace{15em} + (1 - \alpha_n)] \|x_n - x^*\| \dots(1)
 \end{aligned}$$

Now

$$\begin{aligned}
 \|z_n - x^*\| &= \|(\gamma_n T_2 (PT_2)^{n-1} x_n + (1 - \gamma_n)x_n) - x^*\| \\
 &\leq \gamma_n (1 + t_n) \|I(PI)^{n-1} x_n - x^*\| + (1 - \gamma_n) \|x_n - x^*\| \\
 &\leq \gamma_n (1 + t_n)(1 + r_n) \|x_n - x^*\| + (1 - \gamma_n) \|x_n - x^*\|
 \end{aligned}$$

putting this value of  $\|z_n - x^*\|$  in equation (1) we observe

$$\begin{aligned}
 \|x_{n+1} - x^*\| &\leq \alpha_n \beta_n (1 + r_n)^2 (1 + s_n) [\gamma_n (1 + t_n)(1 + r_n) \|x_n - x^*\| \\
 &\hspace{10em} + (1 - \gamma_n) \|x_n - x^*\|] + [\alpha_n (1 - \beta_n)(1 + r_n) + (1 - \alpha_n)] \|x_n - x^*\| \\
 &\leq \alpha_n \beta_n \gamma_n (1 + s_n)(1 + t_n)(1 + r_n)^3 \|x_n - x^*\| \\
 &\hspace{5em} + \alpha_n \beta_n (1 - \gamma_n)(1 + s_n)(1 + r_n)^2 \|x_n - x^*\| \\
 &\hspace{10em} + [(1 - \alpha_n) + \alpha_n (1 - \beta_n)(1 + r_n)] \|x_n - x^*\| \\
 &\leq \alpha_n \beta_n \gamma_n (1 + s_n)(1 + t_n)(1 + r_n)^3 \|x_n - x^*\| \\
 &\hspace{5em} + (\alpha_n \beta_n - \alpha_n \beta_n \gamma_n) (1 + s_n)(1 + t_n)(1 + r_n)^3 \|x_n - x^*\| \\
 &\hspace{10em} + (1 - \alpha_n)(1 + r_n)^3 (1 + s_n)(1 + t_n) \|x_n - x^*\| \\
 &\hspace{15em} + (\alpha_n - \alpha_n \beta_n)(1 + r_n)^3 (1 + s_n)(1 + t_n) \|x_n - x^*\| \\
 \|x_{n+1} - x^*\| &\leq (1 + r_n)^3 (1 + s_n)(1 + t_n) \|x_n - x^*\|
 \end{aligned}$$

By our assumption  $\sum_{n=1}^{\infty} r_n < \infty$ ;  $\sum_{n=1}^{\infty} s_n < \infty$ ;  $\sum_{n=1}^{\infty} t_n < \infty$

we know that if  $\{\alpha_n\}$  and  $\{t_n\}$  be two nonnegative sequences satisfying

$$\alpha_{n+1} \leq \alpha_n + t_n; \quad \forall n \geq 1$$

if  $\sum_{n=1}^{\infty} t_n < \infty$ ; then  $\alpha_n$  exists. Hence  $\lim_{n \rightarrow \infty} \|x_n - x^*\|$  exists.

**Theorem 2:** Let  $X$  be a uniformly Banach space. Let  $C, T_i, I, \{x_n\}$  be same as above and  $\{x_n\}$  also be defined as the same. If  $T_i$  is uniformly L-Lipschitzian for some  $L > 0$  and  $F_1 \neq \phi$  then

$$\lim_{n \rightarrow \infty} \|T_i x_n - x_n\| = \lim_{n \rightarrow \infty} \|I x_n - x_n\| = 0. \quad i = 1, 2, 3.$$

**Proof :** If  $x^* \in F$ ,  $\lim_{n \rightarrow \infty} \|x_n - x^*\|$  exists, then  $\{x_n\}$  is bounded, let

$$\lim_{n \rightarrow \infty} \|x_n - x^*\| = c$$

$$\begin{aligned} \|z_n - x^*\| &= \|\gamma_n T_2 (PT_2)^{n-1} x_n + (1 - \gamma_n) x_n - x^*\| \\ &= \gamma_n \|T_2 (PT_2)^{n-1} x_n - x^*\| + (1 - \gamma_n) \|x_n - x^*\| \\ &\leq \gamma_n (1 + t_n) \|I(PI)^{n-1} x_n - x^*\| + (1 - \gamma_n) \|x_n - x^*\| \\ &\leq \gamma_n (1 + t_n) (1 + r_n) \|x_n - x^*\| + (1 - \gamma_n) \|x_n - x^*\| \\ &\leq (1 + t_n) (1 + r_n) \|x_n - x^*\| \end{aligned}$$

on taking lim sup on both sides, we get

$$\limsup_{n \rightarrow \infty} \|z_n - x^*\| \leq c$$

Now  $\|T_1 (PT_1)^{n-1} z_n - x^*\| \leq (1 + s_n) (1 + r_n) \|z_n - x^*\|$

$$\limsup_{n \rightarrow \infty} \|T_1 (PT_1)^{n-1} z_n - x^*\| \leq c$$

Also  $\lim_{n \rightarrow \infty} \|\beta_n (T_1 (PT_1)^{n-1} z_n - x^*) + (1 - \beta_n) (x_n - x^*)\| = c$

$$\begin{aligned} \lim_{n \rightarrow \infty} \|T_1 (PT_1)^{n-1} z_n - x_n\| &= 0 \\ \Rightarrow \lim_{n \rightarrow \infty} \|I(PI)^{n-1} z_n - x_n\| &= 0 \end{aligned} \quad \dots(3)$$

Now  $\|x_n - x^*\| \leq \|x_n - I(PI)^{n-1} y_n\| + \|I(PI)^{n-1} y_n - I(PI)^{n-1} z_n\| + \|I(PI)^{n-1} z_n - x^*\|$

$$\leq \|x_n - I(PI)^{n-1} y_n\| + (1 + s_n) (1 + r_n) \|z_n - x^*\|$$

$$\lim_{n \rightarrow \infty} \|z_n - x^*\| = c$$

Again  $\|T_2 (PT_2)^{n-1} x_n - x^*\| \leq (1 + t_n) (1 + r_n) \|x_n - x^*\|$

$$\limsup_{n \rightarrow \infty} \|T_2 (PT_2)^{n-1} x_n - x^*\| \leq c$$

Now  $\lim_{n \rightarrow \infty} \|z_n - x^*\| = c$  means.

$$\begin{aligned} \lim_{n \rightarrow \infty} \|\gamma_n T_2 (PT_2)^{n-1} (x_n - x^*) + (1 - \gamma_n) (x_n - x^*)\| &= c \\ \lim_{n \rightarrow \infty} \|T_2 (PT_2)^{n-1} x_n - x_n\| &= 0 \end{aligned} \quad \dots(4)$$

And  $\|I(PI)^{n-1} x_n - x_n\| = \|I(PI)^{n-1} x_n - I(PI)^{n-1} y_n + I(PI)^{n-1} y_n - I(PI)^{n-1} z_n + I(PI)^{n-1} z_n - x_n\|$

$$\begin{aligned} &\leq (1 + r_n) \|x_n - y_n\| + (1 + r_n) \|y_n - z_n\| + \|I(PI)^{n-1} z_n - x_n\| \\ &\leq (1 + r_n) \|x_n - z_n\| + \|I(PI)^{n-1} z_n - x_n\| \\ &\leq (1 + r_n) \|x_n - \{(1 - \gamma_n) x_n + \gamma_n T_2 (PT_2)^{n-1} x_n\}\| \\ &\leq (1 + r_n) \gamma_n \|x_n - T_2 (PT_2)^{n-1} x_n\| + \|I(PI)^{n-1} z_n - x_n\| \end{aligned}$$

From (3) & (4)

$$\lim_{n \rightarrow \infty} \|I(PI)^{n-1} x_n - x_n\| = 0 \tag{5}$$

(4) and (5) implies

$$\lim_{n \rightarrow \infty} \|I(PI)^{n-1} x_n - T_2 (PT_2)^{n-1} x_n\| = 0 \quad \dots(6)$$

Now  $x_{n+1} - x_n \leq \alpha_n \|I(PI)^{n-1} y_n - x_n\|$

$$= \alpha_n [\|I(PI)^{n-1} y_n - I(PI)^{n-1} z_n\| + \|I(PI)^{n-1} z_n - x_n\|]$$

$$\begin{aligned} &\leq \alpha_n (1 + r_n) \|y_n - z_n\| + 0 \\ &\leq \alpha_n (1 + r_n) [\|y_n - x_n\| + \|x_n - z_n\|] \end{aligned} \tag{7}$$

So  $\|x_{n+1} - z_n\| \leq \|x_{n+1} - I(PI)^{n-1}y_n\| + \|y_n - x_n\| + \|x_n - I(PI)^{n-1}z_n\|$   
 $\leq \|x_{n+1} - I(PI)^{n-1}y_n\| + \beta_n T_1 (PT_1)^{n-1} \|z_n - x_n\|$   
 $+ \|x_n - I(PI)^{n-1}z_n\|$

$$\lim_{n \rightarrow \infty} \|x_{n+1} - z_n\| = 0$$

Again  $\|x_n - Ix_n\| = \|x_n - I(PI)^{n-1}x_n + I(PI)^{n-1}x_n - I(PI)^{n-1}y_{n-1}$   
 $+ I(PI)^{n-1}y_{n-1} - I(PI)^{n-1}z_{n-1} + I(PI)^{n-1}z_{n-1} - Ix_n\|$

$$\Rightarrow \lim_{n \rightarrow \infty} \|x_n - Ix_n\| = 0$$

We have assumed that  $T_1$  is uniformly  $L$ -Lipschitzian for some  $L > 0$

$$\begin{aligned} \|T_1x_n - x_n\| &= \|T_1x_n - T_1(PT_1)^{n-1}x_n + T_1(PT_1)^{n-1}x_n - x_n\| \\ &\leq \|T_1(PT_1)^{n-1}x_n - x_n\| + \|T_1(PT_1)^{n-1}x_n - T_1x_n\| \\ &\leq \|T_1(PT_1)^{n-1}x_n - x_n\| + L \|T_1(PT_1)^{n-2}x_n - x_n\| \\ &\leq \|T_1(PT_1)^{n-1}x_n - x_n\| + L \|T_1(PT_1)^{n-2}x_n - T_1(PT_1)^{n-2}x_{n-1}\| \\ &\quad + L \|T_1(PT_1)^{n-2}x_{n-1} - x_{n-1}\| + L \|x_{n-1} - x_n\| \end{aligned}$$

$$\lim_{n \rightarrow \infty} \|T_1x_n - x_n\| = 0.$$

Similarly we can prove that  $\lim_{n \rightarrow \infty} \|T_2x_n - x_n\| = 0.$

**References**

1. S.S. Chang, Y.J. Cho, H. Zhou, Demi-closed principle and weak convergence problems for asymptotically non expansive mappings, J. Korean Math. Soc., 38 (2001), 1245-1260.
2. C.E. Chidume, E.U. Ofoedu, H. Zegeye, Strong and weak convergence theorems for asymptotically non-expansive mappings, J. Math. Anal. Appl., 280 (2003), 364-374.
3. M.K. Ghosh, L. Debnath, Convergence of Ishikawa iterates of quasi-non-expansive mappings, J. Math. Anal. Appl., 207 (1997), 96-103.
4. K. Goebel, W.A. Kirk, A fixed point theorem for asymptotically non-expansive mappings, Proc. Amer. Math. Soc., 35 (1972), 171-174.
5. Hafiz Fukhar-ud-din, S.H. Khan, convergence of iterates with errors of asymptotically quasi-non-expansive mappings and applications, J. Math. Anal. Appl., 328 (2007), 821-829.
6. J.S. Jung, S.S. King, Strong convergence theorems for non-expansive non-self mappings in Banach spaces, Nonlinear Anal. 3 (33) (1998), 321-329.
7. S.H. Khan, H. Fukhar-ud-din, Weak and strong convergence of a scheme with errors for two non expansive mappings, Nonlinear Anal., 61 (2005), 1295-1301.
8. M. Maiti, M.K. Gosh, Approximating fixed points by Ishikawa iterates, Bull. Austral. Math. Soc. 40, (1989), 113-117.
9. M.O. Osilike, A. Udomene, Demi-closedness principle and convergence theorems for strictly pseudocontractive mappings, J. Math. Anal. Appl., 256 (2001), 431-445.
10. B.E. Rhoades and Seyit Temir, Convergence theorems for  $I$ -non-expansive mappings, International Journal of Mathematics and Mathematical Sciences, 2006, 1-4.
11. J. Schu, Iterative construction of fixed points of asymptotically non-expansive mappings, J. Math. Anal. Appl., 158 (1991), 407-413.
12. H.F. Senter, W.G. Dotson, Approximating fixed points of non-expansive mappings, Proc. Amer. Math. Soc., 44(2), (1974), 375-380.
13. N. Shahzad, Approximating fixed points of non-self non-expansive mappings, in Banach spaces, Nonlinear Anal., 61 (2005), 1031-1039.
14. N. Shahzad, H. Zegeye, Strong convergence of an implicit iteration process for a finite family of generalized asymptotically quasi-non-expansive maps, Applied Mathematics and Computation, in press.
15. W. Takahashi, Nonlinear Functional Analysis-Fixed Point Theory and Its Applications, Yokohama Publishers, Inc., Yokohama, 2000.

- 
16. K.K. Tan, H.K. Xu, Approximating fixed points of non-expansive mappings by Ishikawa iteration process, *J. Math. Anal. Appl.*, 178 (1993), 301-308.
  17. S. Temir, O. Gul, Convergence theorem for  $I$ -asymptotically non-expansive mapping in Hilbert space, *J. Math. Anal. Appl.* in press.
  18. L. Want, Strong and weak convergence theorems for common fixed points of Non-self asymptotically non-expansive mappings, *J. Math. Anal. Appl.*, 323 (2006), 550-557.
  19. H.K. Xu, X.M. Yin, Strong convergence theorems for non expansive non self-mappings, *Nonlinear Anal.* 2(24) (1995), 223-228.

Department Of Mathematics,  
Govt. M.L.B.Girls P.G.Autonomous College Bhopal  
Madhya Pradesh, India